Model Answer
Task 1:
People can attain their driving license without having practised to well perform driving. This could be one of the main reasons that increase car accidents yearly. Therefore, there are 40 % of youths' accidents yearly. Some of them drive in high speed in towns, and they commit mistakes that can make others lose their lives. For instance, last week I hit a car in a roundabout, because I did not focus on cars that were coming from the left side. Drivers’ irresponsible behaviour also can contribute in increasing the number of car accidents locally.
